Multiplication and Division
Word Problems

1. How many wheals would

T motorbikes have?

2. If 7 towis arrive at
tha party ot the zama

3. Whils playing o dice
garna, Robart managed

Multiplication and Division Word
Prublems x3 x4 x8

1. How mony whaals
would § tricyclas howa?

. 2& people trovel to on
airport in toxis. & people
travel in sach toxi How

many taxis are wsed?
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3. Honanic o keen archer.
Ona day che shoots §

orrows. Each arrow

soores an 8. Whot
iz her total soore?
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between himself and hiz
four brothars. If thare
are 26 in tha pack, how
mony will thay sach get?
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puts 10 in each pocket.
If the mochinag has
produced 70 sweets, how
many pockets can it fill?
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& All fowr judges gave . 12 peopls camae to the 6. On awet doy, the
the dancer a soore of show and they poid §5 teachar finds 32 wallias.
10. How many did che gach. How much were the How many children
score oltogathar? ticket calas altogether? will ba abla to wear
cna on aach foot?
=
L[
|
| M |
L. i -
7. Sam iz sharing biscuits 8. A maochine making sweets | 9. Carol gives half of her

owl collection to har
sistar. She hos 35 owls

remaining. How many did
she hove to start with?
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4. Thres judges ovward 27
marks cvarall They sach
give the soma score. Whaot
soore did they ecch give?

5. Cinema tickets are $5.

Six paopla go to see o
Film. How much will
thay poy altogether?
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6. Cansof lemoneds are
sold in pocks of &.
Chaeris wants 36 cans
for o party. How many
packs chould sha buy?
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Trish, Karen and Layla
thare equolly o pachst
of nutz. There are 21
nuts in the pack. How
mony nuts do aach gat?
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8. A maching making

mango pisces puts 8
pigcas in each snach
pachket. The mochine
makbes &8 pieces in 1
minute. How many
pachets are filled

avery minuks?

9. Acarpenter makes
toblaz. Some hawve 3
legs and zoma have &
legs. He plans to maka 5
toblas with 3 legs, and &
toblas with & legs. How

many legs will ha nead?
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Multiplication and Division Word
Problems x6 x7 x9

1. Thare are 8 chocolotesz
in o kag, and Jocef
haos & bags to sell.
Henw many chocolates
are thara in total?

2. Sarah gets $4 pocket
maoney from her parents
avary daoy of the weak if
zha doaes all of har choras

Hew much pocket monay
would cshe get in o weak?

3.

Tha farmar plants

carrots in rows of 9. He

decides to plant 7 rows

of carrots. How many

oarrotz ara thare in total?
77

4 Maory downloaded thae
sama number of apps for
har phone each weak.
She downloeaded 54 apps
ovar o pariod of 9 waeaks.
Heww many apps did shae
downlood sach waak?
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5. Joe plants § bushas in his
garden. Each bush blooms
& flowars. How many
fowars are there in total?

. IfI cowve $21 in one

wask (soving an egual
amount each doy],
how much money do
I save each day?

7. Frances is vary good of
hurdles. She can jump
@ hurdlas in o 200

matre raca. Howawar,
Johnathon con jump

twrice oo many. How many

hurdles can he jump?

&. Ittokes 2& minutes for

Jassicn to rida her biks to
school. On the way, che
stops at regular intervals
to retia her choaloces.
She stops & timaes on her
trip. How many minutes
wara between aoch stop?

3. My teocher decided to

revward us with o pizza
party ot tha and of thae
waak. Thera ara 21 pacple
in my class, and sxch
parson is allowed 2 pieces
of pizza. & pizma hos T
slices. How many pizzos
dowes ha nead to buy?




